ﬂé Division Word Problems (3+1) Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Anindustrial machine made 872 shirts. If it made one minute to make 8 shirts, how many
minutes was it working?

A mailman has to give out 702 pieces of junk mail. If he goes to 6 blocks how many pieces
of junk mail should he give each block?

Carol had 196 video games. If she placed the gamesinto 7 different stacks, how many
games would be in each stack?

A pallet of boxesweighed 252 kilograms. If there were 6 boxes on the pallet and each box
weighed the same amount, how much did each weigh?

There are 876 students in a school. If the school has 2 grades and each grade had the same
number of students, how many students were in each grade?

Will played 6 rounds of atrivia game and scored 924 points. If he gained the same number
of points each round, how many points did he score per round?

A school ordered 288 new pencils for the state tests. If they gave each student 4 pencils,
how many students are in the school ?

Ned made 180 dollars mowing lawns over the summer. If he only had 5 customers and
each person paid the same amount, how much did each person pay?

Bianca had 664 pennies. If she put them into stacks with 4 in each stack, how many stacks
could she make?

Mike had 486 basehall cardsin 2 binders. If each binder has the same number of cards,
how many cards are in each binder?

Answers

10.
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Division Word Problems (3+1) Name Answer Key
Solve each problem. Answers
1) Anindustrial machine made 872 shirts. If it made one minute to make 8 shirts, how many
minutes was it working? 1 109
2. 117
2) A mailman hasto give out 702 pieces of junk mail. If he goesto 6 blocks how many pieces
of junk mail should he give each block? 3 28
a. 42
3) Carol had 196 video games. If she placed the gamesinto 7 different stacks, how many
games would be in each stack? 5 438
6. 154
4) A pallet of boxes weighed 252 kilograms. If there were 6 boxes on the pallet and each box
weighed the same amount, how much did each weigh? 7 72
8 36
5) There are 876 studentsin a school. If the school has 2 grades and each grade had the same
number of students, how many students were in each grade? 9 166
10. 243
6) Will played 6 rounds of atriviagame and scored 924 points. If he gained the same number
of points each round, how many points did he score per round?
7) A school ordered 288 new pencils for the state tests. If they gave each student 4 pencils,
how many students are in the school ?
8) Ned made 180 dollars mowing lawns over the summer. If he only had 5 customers and
each person paid the same amount, how much did each person pay?
9) Biancahad 664 pennies. If she put them into stacks with 4 in each stack, how many stacks
could she make?
10) Mike had 486 baseball cardsin 2 binders. If each binder has the same number of cards,

how many cards are in each binder?
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ﬂé Division Word Problems (3+1) Name:

Solve each problem.

7

166 72 117 28 243

36 109 154 42 438

j

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Anindustrial machine made 872 shirts. If it made one minute to make 8 shirts, how many
minutes was it working?

A mailman has to give out 702 pieces of junk mail. If he goes to 6 blocks how many
pieces of junk mail should he give each block?

Carol had 196 video games. If she placed the gamesinto 7 different stacks, how many
games would be in each stack?

A pallet of boxesweighed 252 kilograms. If there were 6 boxes on the pallet and each box
weighed the same amount, how much did each weigh?

There are 876 students in a school. If the school has 2 grades and each grade had the same
number of students, how many students were in each grade?

Will played 6 rounds of atrivia game and scored 924 points. If he gained the same number
of points each round, how many points did he score per round?

A school ordered 288 new pencils for the state tests. If they gave each student 4 pencils,
how many students are in the school ?

Ned made 180 dollars mowing lawns over the summer. If he only had 5 customers and
each person paid the same amount, how much did each person pay?

Bianca had 664 pennies. If she put them into stacks with 4 in each stack, how many stacks
could she make?

Mike had 486 basehall cardsin 2 binders. If each binder has the same number of cards,
how many cards are in each binder?
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